Decision Homework D		Dijkstra’s Algorithm 		       	  Total: 25 marks
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	The network shows a network of paths. The number on each arc gives the length, in metres, of that path.

	Use Dijkstra’s algorithm to find the shortest distance from A to H.			           (5)
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The diagram shows a network of roads. The number on each edge gives the time, in minutes, to travel along that road. Avinash wishes to travel from S to T as quickly as possible.

(a)	Use Dijkstra’s algorithm to find the shortest time to travel from S to T.			(5)

(b)	Find a route for Avinash to travel from S to T in the shortest time. State, with a reason, whether this route is a unique solution.								(2)
On a particular day Avinash must include C in his route.
(c)	Find a route of minimal time from S to T that includes C, and state its time.		(3)
								Jun 04
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	The diagram shows a network of roads. The number on each arc represents the length of that road in km.
(a) Use Dijkstra’s algorithm to find the shortest route from A to J. State your shortest    route and its length.											(5)
	(b)	Explain how you determined the shortest route from your labelled diagram.		(2)	
The road from C to F will be closed next week for repairs.			

(c)	Find the shortest route from A to J that does not include CF and state its length.	(3)
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